
For more information: 1300 287 935  /  mail@burwell.com.au  /  www.burwell.com.au

Copyright 2016 Burwell Technologies

Product Parts  
Breakdown Sheet

Clemco  
1" Diaphragm Outlet Valve

No Product Code Item Description

(-) 0405-3371 1" Diaphragm Outlet Valve, Complete

1 0305-4614 Nipple, 1" x close

2 0405-06149 Diaphragm

3 0405-03117 Washer, 1/4" lock

4 0405-03053 Cap screw, 1/4-NC x 1" hh

5 0405-03393 Cap, diaphragm outlet

6 0405-06135 Body, diaphragm outlet

7 3006-0105 Bushing, 1-1/4" x 3/4"

TLR-100/300 SERIES PNEUMATIC REMOTE CONTROLS Page 17 

© 2015 CLEMCO INDUSTRIES CORP.   www.clemcoindustries.com    Manual No. 22428, Rev. D 

7.9 1" Diaphragm Outlet Valve, Figure 21 

Item Description Stock No. 

 (-) 1" Diaphragm outlet valve, complete  ........ 03371 
 1. Nipple, 1" x close  ...................................... 01701 
 2. Diaphragm  ................................................ 06149 
 3. Washer, 1/4" lock ....................................... 03117
 4. Cap screw, 1/4-NC x 1" hh  ....................... 03053 
 5. Cap, diaphragm outlet  .............................. 03393 
 6. Body, diaphragm outlet  ............................. 06135 
 7. Bushing, 1-1/4" x 1"  .................................. 01804 

 Figure 21 

7.10 RLX Pneumatic Control Handle 

Refer to RLX Control Handle Manual No. 10574
for RLX replacement parts.

7

2
6

5
1

3
4

mailto:mail%40burwell.com.au?subject=Customer%20Query
http://www.burwell.com.au/

